
9���0,1(5$/1$�*12-,9$
����8SRUDED�PLQHUDOQLK�JQRMLYD�VH�PRUD�]DVQLYDWL�QD�VWDQMX

REH]ELMH_HQRVWL� WOD� VD� SRWUHELWLP� KUDQLYLPD� NRMD� WUHED� GD� VX
VXNODGQL�VD�SUHSRUXNDPD�SROMRSULYUHGQH�VOXCEH�

8�FLOMX�UDFLRQDOQRJ�NRUL^WHQMD�PLQHUDOQLK�JQRMLYD�SRWUHELWR
MH�YU^LWL�NRQWUROX�SORGQRVWL�WOD�

2YD�PMHUD�VH�PRCH�VSURYRGLWL�VYDNH�WUH`H�SHWH�JRGLQH�

9,���65('679$�=$�3235$9$.�32/-235,95('12*
=(0/-,>7$

����6UHGVWYD�]D�SRSUDYDN�SROMRSULYUHGQRJ�]HPOML^WD�NRMD�VH
GRGDMX�WOX��PRJX�VH�NRULVWLWL�VDPR�DNR�QD�RULJLQDOQRP�SDNRYDQMX
LPDMX� L� SRGDWNH� R� VDGUCDMX� WH^NLK� PHWDOD� L� GUXJLK� WRNVLaQLK
HOHPHQDWD�

6DGUCDM�WH^NLK�PHWDOD�X�VUHGVWYLPD�]D�SRSUDYDN�WOD��NRMD�VH
PLMH^DQMHP�VD� WORP�QH�VPLMX�SUHOD]LWL�SHWHURVWUXNX�NROLaLQX� L]
aODQND� ��� RYRJ� QDSXWND�� D� DNR� VH� NRULVWH� NDR� VXSVWUDW� EH]
PLMH^DQMD�VD�WORP��VDGUCDM�^WHWQLK�WYDUL�QH�VPLMH�SUHOD]LWL�YULMHG�
QRVWL�QDYHGHQH�X�aODQNX����RYRJ�QDSXWND�

9,,���65('679$�=$�=$>7,78�%,/-$
����6UHGVWYD�]D�]D^WLWX�ELOMD�PRUDMX�VH�SULPMHQMLYDWL�VXNODGQR

VD�GR]YRORP�]D�VWDYOMDQMH�X�SURPHW�L�GUXJLP�SURSLVLPD�NRML�VH�QD
QMLK�RGQRVH�

����8WYU_LYDQMH�GR]YROMHQRJ�VDGUCDMD�XNXSQLK�NROLaLQD�RSDV�
QLK�L�^WHWQLK�WYDUL�X�WOX�YU^L�VH�X�SHGROR^NLP�ODERUDWRULMDPD�NRMH
VX�RSUHPOMHQH�L�RYOD^WHQH�]D�WDNYD�LVSLWLYDQMD�

9,,,���0(72'(�8795?,9$1-$�'2=92/-(1,+
.2/,A,1$�>7(71,+�,�23$61,+�79$5,

���� 6DGUCDM� PHWDOD� X� XNXSQRP� REOLNX� �WH^NLK� PHWDOD�
XWYU_XMH�VH�VDYUHPHQLP�PHWRGDPD��NDR�^WR�MH�PHWRGD�DWRPVNH
DGVRUSFLMH�$$6��SODPHQD�WHKQLND�LOL�JUDILWQD�NLYHWD��QDNRQ�QML�
KRYH�HNVWUDNFLMH�X�]ODWRWRSFL�L]�YD]GX^QR�VXKRJ�X]RUND�WOD��PXOMD
L� VYLK�SURL]YRGD� L]�JUDGVNLK�RWSDGQLK�YRGD��NRPSRVWD�� WHaQRJ
VWDMQMDND�L�RUJDQVNRJ�JQRMLYD��7H^NL�PHWDOL�L]�X]RUDND�PLQHUDOQLK
JQRMLYD�RGUH_XMX�VH�LVWRP�PHWRGRP�L]�QMLKRYLK�YRGQLK�UDVWYRUD�

3$+�VH�HNVWUDNXMX�RGJRYDUDMX`LP�HNVWUDNFLRQLP�UDVWYRULPD
�''7�VD�KHNVDQRP�LOL�DFHWRQRP��NHOHYDQ�L�OLQGDQ�VD�PHWLOHQKOR�
ULGRP��LWG����D�QLYR�NRQFHQWUDFLMH�VH�XWYU_XMH�PHWRGRP�WHaQH�LOL
JDVQH�NURPDWRJUDILMH��NRORULPHWULMH�LOL�VSHNWURIRWRPHWULMH�

6DGUCDM�VXPSRU��6���QLWULWD��12���L�IRVIDWD��32�
����VH�XWYU_XMH

JUDYLPHWULMVNRP�LOL�VSHNWURIRWRPHWULMVNRP�PHWRGRP�

,;���35(/$=1(�,�=$95>1(�2'5('%(
���� 2YDM� QDSXWDN� VWXSD� QD� VQDJX� QDUHGQRJ� GDQD� RG� GDQD

REMDYOMLYDQMD�X��6OXCEHQLP�QRYLQDPD�)HGHUDFLMH�%L+��

%URM���������������
����RCXMND�������JRGLQH

6DUDMHYR
0LQLVWDU

SURI��GU�$KPHG�6PDML`��Y��U�

3R�L]YU^HQRP�VUDYQMDYDQMX�VD�L]YRUQLP�WHNVWRP�XWYU_HQR�MH
GD� VH� X� WHNVWX� =DNRQD� R� L]PMHQDPD� L� GRSXQDPD� =DNRQD� R
RJUDQLaHQRM� XSRWUHEL� GXKDQVNLK�SUHUD_HYLQD� ��6OXCEHQH�QRYLQH
)HGHUDFLMH�%L+���EURM���������SRWNUDOD�QLCH�QDYHGHQD�^WDPSDUVND
JUH^ND��GD� VH�QD�RVQRYX�aODQD������3RVORYQLND�3UHGVWDYQLaNRJ
GRPD�3DUODPHQWD�)HGHUDFLMH�%RVQH�L�+HUFHJRYLQH�L�aODQD����VWDY
����D�X�YH]L�VD�aODQRP������3ULYUHPHQRJ�SRVORYQLND�8VWDYRWYRUQH
VNXS^WLQH�)HGHUDFLMH�%RVQH�L�+HUFHJRYLQH��NRML�VH�SULPMHQMXMH�NDR
3ULYUHPHQL�SRVORYQLN�'RPD�QDURGD�3DUODPHQWD�)HGHUDFLMH�%RVQH
L�+HUFHJRYLQH��GDMH

,635$9.$
=$.21$�2�,=0-(1$0$�,�'2381$0$
=$.21$�2�2*5$1,A(12-�83275(%,

'8+$16.,+�35(5$?(9,1$
8�aODQX����ULMHaL�����RVLP�DNR�VX�VPMH^WHQL��]DPMHQMXMX�ULMHaMX

�VPMH^WHQH��
6HNUHWDU

'RPD�QDURGD
3DUODPHQWD�)HGHUDFLMH�%L+

PU�+LOPR�3D^L`��V��U��

6HNUHWDU
3UHGVWDYQLaNRJ�GRPD

3DUODPHQWD�)HGHUDFLMH�%L+
0LOH�.XGL`��V��U��

3R�L]YU^HQRP�VUDYQMDYDQMX�VD�L]YRUQLP�WHNVWRP�XWYU_HQR�MH
GD� VH� X� WHNVWX� =DNRQD� R� L]PMHQDPD� L� GRSXQDPD� =DNRQD� R
RJUDQLaHQRM�XSRUDEL�GXKDQVNLK�SUHUD_HYLQD���6OXCEHQH�QRYLQH
)HGHUDFLMH�%L+���EURM���������SRWNUDOD�QLCH�QDYHGHQD�WLVNDUVND
JUH^ND��GD�VH�QD�WHPHOMX�aODQND������3RVORYQLND�=DVWXSQLaNRJ
GRPD� 3DUODPHQWD� )HGHUDFLMH�%RVQH� L�+HUFHJRYLQH� L� aODQND� ��
VWDYDN� ���� D� X� VYH]L� VD� aODQNRP������3ULYUHPHQRJ�SRVORYQLND
8VWDYRWYRUQH�VNXS^WLQH�)HGHUDFLMH�%RVQH�L�+HUFHJRYLQH��NRML�VH
SULPMHQMXMH�NDR�3ULYUHPHQL�SRVORYQLN�'RPD�QDURGD�3DUODPHQWD
)HGHUDFLMH�%RVQH�L�+HUFHJRYLQH��GDMH

,635$9.$
=$.21$�2�,=0-(1$0$�,�'2381$0$
=$.21$�2�2*5$1,A(12-�8325$%,

'8+$16.,+�35(5$?(9,1$
8� aODQNX� ��� ULMHaL�� ��� RVLP� DNR� VX� VPMH^WHQL�� ]DPMHQMXMX

ULMHaMX��VPMH^WHQH��
7DMQLN

'RPD�QDURGD
3DUODPHQWD�)HGHUDFLMH�%L+
PU�+LOPR�3D^L`��Y��U��

7DMQLN
=DVWXSQLaNRJ�GRPD

3DUODPHQWD�)HGHUDFLMH�%L+
0LOH�.XGL`��Y��U��

&(175$/1$�%$1.$
%261(�,�+(5&(*29,1(

1D�RVQRYX�aODQD����VW�����L�����aODQD����WDaNH�L��L�aODQD�����WDaNH�L�
=DNRQD�R�&HQWUDOQRM�EDQFL�%RVQH�L�+HUFHJRYLQH���6OXCEHQL�JODVQLN
%L+���EURM��������8SUDYQR�YLMH`H�&HQWUDOQH�EDQNH�%RVQH�L�+HUFH�
JRYLQH�QD����VMHGQLFL��RGUCDQRM�����MDQXDUD�������JRGLQH��GRQRVL

2'/8.8
2�,=0-(1$0$�2'/8.(�2�261,9$1-8

*/$91,+�-(',1,&$�&(175$/1(�%$1.(
%261(�,�+(5&(*29,1(

AODQ���
8� 2GOXFL� R� RVQLYDQMX� JODYQLK� MHGLQLFD� &HQWUDOQH� EDQNH

%RVQH�L�+HUFHJRYLQH���6OXCEHQL�JODVQLN�%L+���EURM��������X�aODQX
���ULMHaL���L�*ODYQH�EDQNH�5HSXEOLNH�6USVNH�&HQWUDOQH�EDQNH�%L+
MH�QD�3DODPD��XOLFD�3HUH�.RVRUL`D�EURM�����]DPMHQMXMH�VH�ULMHaLPD�
�D�VMHGL^WH�*ODYQH�EDQNH�5HSXEOLNH�6USVNH�&HQWUDOQH�EDQNH�%L+
MH�X�%DQMRM�/XFL���

AODQ���
AODQ����PLMHQMD�VH�L�JODVL�
��6YDND�JODYQD�MHGLQLFD�LPD�SHaDW�NRML�L]UD_XMH�&HQWUDOQL�XUHG

&HQWUDOQH�EDQNH��X�VNODGX�VD�RS`LP�DNWRP�R�SHaDWX�&HQWUDOQH
EDQNH�L�QMHQLK�RUJDQL]DFLRQLK�MHGLQLFD���

AODQ���
AODQ����PLMHQMD�VH�L�JODVL�

6XERWD�����DSULOD�WUDYQMD������ 6/8#%(1(�129,1(�)('(5$&,-(�%L+ %URM������6WUDQD����


